
Table 1: Example Simple LaTeX Table

Observation Variable1 Variable2

Subject1 a b
Subject2 c d
Subject3 e f
Subject4 g h

Observation Variable1 Variable2

Subject1 a b
Subject2 c d
Subject3 e f
Subject4 g h

Estimate Std. Error t value Pr(>|t|)
(Intercept) 10.1 1.3 7.9 0.0
Education 0.6 0.1 6.5 0.0

Table 2: Linear Regression, Dependent Variable: Exam Score
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Table 3: Nested Estimates Table with texreg

Model 1 Model 2 Model 3 Model 4 Model 5
(Intercept) 10.13∗∗∗ 19.72∗∗∗ 18.54∗∗∗ 18.66∗∗ 24.57∗∗

(1.29) (3.20) (2.64) (5.84) (8.24)
Education 0.58∗∗∗ 0.36∗∗ 0.42∗∗∗ 0.42∗∗∗ 0.33∗

(0.09) (0.10) (0.09) (0.09) (0.13)
Agriculture −0.14∗∗ −0.07 −0.07 −0.08

(0.04) (0.04) (0.04) (0.04)
Catholic −0.08∗∗∗ −0.08∗∗∗ −0.07∗∗

(0.02) (0.02) (0.02)
Infant Mortality −0.01 0.10

(0.23) (0.25)
Fertility −0.10

(0.09)
R2 0.49 0.59 0.73 0.73 0.73
Adj. R2 0.48 0.57 0.71 0.70 0.70
Num. obs. 47 47 47 47 47
RMSE 5.77 5.25 4.30 4.36 4.35
∗∗∗p < 0.001, ∗∗p < 0.01, ∗p < 0.05
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